PA3JIOKEHUE
PAZBHOCTH
KBAJIPATOB HA
MHOKUTEJH



IIpounTars BbIpAKECHUSA

2k-n; (a+5)* (7-c)*;

=(a+3)(a-3)



IlpouuTaTh U NMPEACTABUTH B BH/IE
KBaApaTa OJHOYJICHA

=x* b° a'% 4a®;
= 0,04b"%;

=36x°y*



PackpbITh CKOOKH

*a) (b-8)(8+b)=
«=(b-8)(b+8)=h2-82=
-=h2-64



PackpbITh CKOOKH

=6) (5x%-1)(1+5x2)=
==(5x2-1)(5x°%+1)=
==(5x2)%-14=5x4-1



dopmyna pazHOCTH
KBaJapaTroB

a*-b*=(a-b)(a+b)



“a)x%>-y?  6)c?-z2 B)a*-25
“«r)m?-1 0)16-b? e)100-x?
K)p>-400 3)y%-0,09  un)1,44-a°

= K)b?-§- n) #-n?  m)#-p?



CamocrosiTesqibHaAss padora
NPUMEHUTH (HOopMy.Ty

1 2
. 1) 3632-49 1) 64-25x2
. 2)-81425y2  2)-49a2+16b?
. 3) 47%-372 3) 532-632
. 4) b2_4 4) 2_5_p2

9 49



